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Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
you are requested to open the booklet and
compulsorily examine it as below :

(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not
in serial order or any other discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions given inside carefully.

One page is attached for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
identity, you will render yourself liable to
disqualification.

You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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NOTE: This paper is of two hundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - 1
Qug -1

Note : This section contains five (5) questions based on the following
paragraph. Each question should be answered in about thirty (30)
words and each carries five (5) marks.

(5x5=25 marks)

e : T4 T H frefafad sese W e[ 9 (5) W9 &1 Tesh 9 &l W
T A (30) Vel W ST T UAE WA Ui (5) A w1 T
(5x5=25 3iah)

Workers are like flowers. They have to be gently and delicately handled. A
flower will not attain its full grandeur unless it is allowed to blossom fully. Workers too
would not be able to reach their full heights of efficiency unless they are also allowed to
blossom fully.

A flower cannot be enjoyed by either squeezing or crushing it. Workers also
cannot be made to be productive by either squeezing or crushing them.

If every single flower is like an individual worker, a garland of flowers is like a
trade union of workers. We all know, it is the thread which binds the individual flowers
into a garland. Similarly, it is the leadership which binds the individual workers into a
union. The leader then is like the thread.

In a good garland the thread will not be visible. It will be only the flowers that
will be prominent. Similarly, in a good trade union, the leaders would not be prominent.
It would be the workers who would be prominent and they would have the pride of
place.

This will show that just as the thread is for the garland and the garland is not for
the thread; the leader is for the union and not the union is for the sake of the leader.
But today it often seems that the union is more for the leaders than for the workers.
Most unions are leader based while the leader himself is based somewhere else. All
unions must become worker based. Such a change should be brought about quickly.

If in a garland only the thread is prominent and visible everywhere and not the
flowers, such a garland would look ugly. Indeed, that would then be no garland at all.
Similarly, in a union where the leaders alone are prominent and not the workers, it
would not be a real union at all.

A thread has no fragrance of its own. If it has any fragrance, it is an acquired one
and depends upon whatever fragrance the flowers give it. Similarly, the leaders acquire
power from the workers.

A good garland is weighty, majestic and grand. Similarly, a good trade union
should have all these attributes. Let us therefore, knit the workers into a grand majeshz,
good and beautiful union.
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T G I A< IH THAR AT TTaTSH el {731 ST Fehdl ek S8l YehR AfHehT i TS
T HHAR SToh! Icaeehdl H ghg Tl bl ST Hehel! |
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1.  What lessons follow from this passage ?

9 eyl 9 o fren fiyerdr €2
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2. What are the suggestions made by the passage for the Trade union leadership ?
T SRIE © HSIGE WY g o @R H I gerd fHerd 82

3.  How the importance of workers in trade unions is highlighted by the passage ?

TH A1 | ST Heig Gl H Aftehl o weed i foRd YeRR gwiten e ¥ 2
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4.  “Most unions are leader based while the leader himself is based somewhere” - conveys
some hidden meaning. What it could be ?

" oTgd T HSIGY T el € Welfsh At 1 AR e AR - 56 HUA W PO g
NF ¥ % N2 FhaAT1 S 2

5.  How the similies drawn in the passage are justified ?

G 9 B S ST 99 TS § 1 o Hel § 2
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SECTION - II
Lug —1I1

Note : This section contains fifteen (15) questions each to be answered in
about thirty (30) words. Each question carries five (5) marks.

(5x15=75 marks)

e 3 @S H E-uig (5-5) 3fehi & Ugg (15) U9 &1 Toieh U9 ol I
T A (30) TSl H TUfad €1 ek e Ure (5) ekl 1 ¥ |

(5x15=75 31eR)

6.  What is systems Approach of Management ?
YeI-E 1 SHIEAT TIHHT0T T T ?
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7. What are semantic barriers in communication ?

HaR & @i Hiifes sfeR’ @ €72

8.  Why Job Analysis is a basic human resource tool ?

1 el wor AFe GEEE I Sy B2
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9.  Explain the importance of HRD in modern organizations.

TYfeh TS H Mg Hare foehr s Wew 9 § 2

10. What are the recent trends in performance appraisal ?

HTE-Hediehd i feen # snyfie ygfa = €72
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11. What is organizational effectiveness ?

HISTCHeR YHTETITeAdT R § 2

12. Bring out the concept of industrial relations.

¢ SMENfiTeh-gvalre1’ Shl TR ki == hi |

J—5506 10



13. Why collective bargaining is regarded as the best method for settling industrial
disputes ?

gmfeeh HieaTs I foaTg THe & e | 3181 TR il HaT S § 2

14. Bring out the important objectives of trade unions.

TSI GEll o Hee-qul SEXE i ==l ity |
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15. What changes do you propose in the Industrial Disputes Act, 1947 ?
Senfires faerg stfuftam, 1947 & st 39 ford YR =1 Ified= =med €2

16. What benefits are available to industrial workers under Employees’ State Insurance
Act, 1948 ?

A= T o Tfafaem, 1948 o ST=id STenfiter gffenl sl ShiF-hia 9 oY STy § ?
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17. Bring out the procedure for certification of standing orders under Industrial Employment
(Standing orders) Act, 1946.

renfires feie (Temh otewr) ifufTam 1946 o STl T TR ol THTUNHIO & forw a=n
qeht fean T § 2

18. What do you understand by placating theory of labour welfare ?
FH-FETI F @RI S AT T T & 2
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19. Distinguish between statutory and non - statutory welfare facilities with examples.

Juren e T gu-shearor giawnsii & s SereR <4 U ST Sl |

20. What are the different types of unemployment ?
SIS o Tl i a6t =i |
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SECTION - III
Qug —II1

Note : This section contains five (5) questions from each of the electives /

21.

22.

23.

24.

25.

specialisations. The candidate has to choose only one elective /
specialisation and answer all the five questions from it. Each question
carries twelve (12) marks and is to be answered in about two hundred
(200) words.
(12x5=60 marks)

39 e | Yk Ufoseh sohrs/ fasiosmar @ o= (5) T €1 31egeft sl shaa
Teh Ufeah 3ohTs/ ToRTo=rdT sht e 39t | | Uil U9l ol ST § | Tk
9 IRE (12) 3Tehi o1 & o SHRT AL TR &1 4l (200) Teal H 319ferd )
(12x5=60 37eh)

Elective - 1

faehea —1

What should be the role of employers, trade unions and state in the changing industrial
relations scenario in India ?

IRd | 3iienfiter deigr o agerd g ufewr § Hifetss, Aol W SR R i offeht B
=fee ?

Evaluate the working of bipartitism in industrial relations in India.

IRa § enfiter arery & & | fguer-are fhg yR & e @ §?

What will be the future of industrial relations in India ?

ORA H Teh T2 ol 9o s B 2

“Conflict and cooperation are two important aspects of industrial relations”. Comment.

" forame we wednT SiEifiTeR Heig % o HEwqul deq] ¥ 17 feuyoft @i

Bring out the important features of industrial relations in USA.

Y UET, o TS Goie i Feaqul forRmware st == &

OR / 1@
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21.

22.

23.

24.

25.

Elective - II

fasmea—11

Discuss the concept of Total Quality Management. What are its techniques ?

e FaTferel HASTHE hi STALRON i ==l hi| 3T oh - T dohlh & 2

Differentiate between training and development. How effectiveness of training is
evaluated ?

forenra wel ufreror # oo SR T ? UfIeTu skl GHrereedldr sl A9 fhd YehR foran ST Hehdr & 2

Distinguish between personnel management and Human Resource Management and
bring out the importance of HRM in the present scenario.

Hifgertta ere qei e FE1EA Yo § <R Iared a7l 37 el deerd gu Hed § TR TH.
% HeE@ i =4l

Do you feel that emergence of multinational companies in India has created many
challenges in the field of HRM ?

FT Y I8 HeHgH FW ¢ foh YR § Ao eMal Pl o SRR & MG SE1eH Yo & &5
H TRl ATl Scael &1 7T 2

Differentiate between right - sizing and down - sizing. What steps are being taken by
the Government of India to extend relief to the victims of downsizing ?

‘TEe-arEfei’ agn S GRS’ ° SR Iy | SIS RS ¥ YHifad AfHehl ol GerEdl o
% 39 U YRd TR g - T el ST T § ?

OR / 1%t
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Elective - III

fasca—II1

21. Discuss in detail any two principles of labour legislation.

gu-faum & fr<i <1 fagrai =t foga ==t w1

22. ‘Labour legislations in India are dynamic but not effective’. Comment.

‘9T & FH-RIT TR © 9g Tt T | femoht )

23. Briefly examine the recommendations of the Second National Commission on Labour
pertaining to labour legislations in India. What has been the response of the Government
of India towards these recommendations ?

IRd § gt Ugia g9 ST &t 37 ol o6t ==l S 99 S | geted 81 59
el o 9fa Ra SRR 1 I giarha § 2

24. ‘Labour legislations in India need drastic amendments to keep pace with the ongoing
policy of globalisation’. Do you agree with the statement ?

“ RA  Sveenl i T WA % |1 qrere S o feTe g9 I | SN S STaeeshdl
7' 39 3H HUE Y TeHd 72

25. How has the Indian Constitution influenced the formulation of Labour Legislation in
India ?

URd H gH-ATH B I & w1 Bl R Sige 3 feg R ganfad foear €2
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SECTION - IV

g ug—-1V

Note : This section consists of one essay type question of forty (40) marks to

26.

be answered in about one thousand (1000) words on any of the
following topics.

(40x1=40 marks)

TH W H UHk =y (40) ekl &1 oS 3 © fSden s f=fafad
fawai & | Sheel Toh 9T, T Uk B9IR (1000) ¥Tsgi | 3TUferd B

(40x1=40 37h)

Discuss the changing scenario of industrial relations in India and reflect upon the role
of the parties to industrial relations in coming times.

IR § SiTenfitr HeiY % g gu URevd &l == i IR e vfasr # ofeifie ddy &
fafe <al =t Jfie R It 2 |

OR / 37erar

How the HRM strategies are made compatible with the corporate strategies ?
Substantiate your answer with suitable examples.

TG HEIEE 1 LSSl ohl HIURE Wl & H1 HH 3Thel ST ST Gehell &2 STIH ST hl
ST ST G HFYY FHIfST |

OR / 31eran

What are the bottlenecks in the present labour legislations in India which hamper the
implementation of policy of liberlisation. What measures do you suggest to remove
these impediments.

IR o STHH F9 F H TH DM H HHA S S SR i AT Sl AR B H 9Eh € 137
il ol QW HH & T 119 =1 gara <71 2
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